PAPER 1 
MARKING SCHEME CHEMISTRY

1a. To magnesium oxide (MgO) add excess hydrochloric acid (HCl) or sulphuric acid (H2SO4). Add sodium hydroxide (NaOH) solution or potassium hydroxide (KOH) solution to the mixture. Filter and dry the residue 
b.Anti-acid (treatment of acid indigestion )
2a.Energy change that results in the formation of an ion when an atom gain an electron 
b.B, B releases the highest amount of energy so it has the strongest attraction of electron to its nuclear 
3a.Polythene
b.n-4956÷28=177
4a.Cooling curve
b.BC
c.The kinetic energy of the molecules decreases as heat energy is lost to the surrounding leading to drop in temperature 
5.Mass of NH3=1000x0.88x0.35=308
[bookmark: _GoBack]Molarity =308/17=18.118M
6a. [image: C:\Users\uawe\Desktop\20170301_163738.jpg]
7a. Boyle’s law states that the volume of a fixed mass of a gas is inversely proportionally to its pressure when temperature is kept constant 
b.
	P1V1
T1
	P2V2
  T2

	
780x400
303
	
=600xV2
   323

	
V2 = 
	
323 x 780 x 400
303 x 600

	
	= 554.3234cm3



8a.Enthalpy change when are mole of a compound is formed from its gaseous ions 
b.DHF =2x-394-286-(-1300)
           + 226KJ/mole.



9a.

[image: C:\Users\uawe\Desktop\20170301_163746.jpg]
b. dilute hydrochloric acid (1mk)
10.
	0.1 moles _______
?___________
	1000cm3
250cm3

	=0.1 x 250  = 
       1000
	0.025 moles

	0.025 moles _____
	6.95
FM

	FM =    6.95    = 
            0.025
	278

	FeSO4.nH2O
152 +18n  = 
                          n=
	= 278
278
7




11. X (2.8.2)
Y(2.8.7 (1mk)
b.Atomic radius of y is smaller than that of x (1mk)
c.Alkaline earth metals (1mk)
12a.Carbon (II) oxide burns with a blue flame 
2CO(g) + O2(g) ___________2CO2)(g)
b.It will produce carbon (II) oxide since there is no air to burn it 
13.Ratio   M:O
Moles 0.254/63.5       0.64/16
            0.04          0.04
EF=MO
14a.Nitric (V) acid has low boiling point than sulphuric (VI) acid 
b.Sodium nitrate 
c.Manufacture of fertilizers
15a.2 NaOH (aq) + Cl(g) ___________NaCL(aq) + NaCL(aq) + H2O (aq)
b.Sodium hypochlorate
NaOCL + dye _________NaCl + dye -0
16a.Calcium Hydrogen carbonate and magnesium hydrogen carbonate
b.Distillation removes the substance dissolved in water 
c.Contain Ca2+ necessary for formation of strong bones and teeth 
17a.Iodine melting point is above the room temperature 
b.Increase of molecular mass increase the forces of attraction between the molecules 
18a.Water /moisture 
And oxygen /air
b.Tin cans are not reactive and non toxic
19.Dessicator –drying substances
Crucible –heating solid
Deflagrating spon-holding substances  being burnt.
20a.Mg (s) + H2O(g) _______MgO(s) + H2(g)
b.Potassium –reacts with steam explosively
21a.Grahams law : rate of diffusion of a gas is inversely proportional to the square root of its density 

bi.
	RA =     2.9
RB   =  1.98
	= 121
Gas B diffuse 1.21 fasts than A

	Bii. RA = 64
      RB    MMA
	1.21 =   64
    mmA
1.212=64
          MMA
MMA= 64
             1.212
=43.69




22i.C2H5OH = 12
ii.C2H5Cl – 5
b.Dehydration 
23a.Salt ?Y at 500 only 82g of the 120g of y dissolves
b.120-82g
=38g
24a.X – iron will rust
Y iron will not rust
b.In y iron will not rust because zinc is more reaction that will react with oxygen protecting iron.
25.
[image: C:\Users\uawe\Desktop\20170301_163801.jpg]
ii.Contained c and A
26.M1V1 =M2V2
50 x 5.0 =1 x v2
V2=250cm3
Volume of distilled water 250-50
= 200cm3
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